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4. Donuts Task Scoring Guide

The CCSS for Mathematical Content (2 points)

3.0A.1

3.0A.5

Provides drawing(s) and/or equation(s) to indicate an understanding of
multiplication as 15 equal groups of 8 or 9 objects.

(1 Point)

Indicates how one person’s total number of donuts can be used to determine the
total number of donuts for the other person.

(1 Point)

Total Content Points

The CCSS for Mathematical Practice (2 points)

MP1

MP4

Shows that one problem can be solved and then used to determine the product of
the second problem.

(1 Point)

(MP1: Make sense of problems and persevere in solving them.)

Provides a diagram or an equation indicating use of multiplication to determine one
person’s total number of donuts.

(1 Point)
(MP4: Model with mathematics.)

Total Practice Points

Total Awarded Points
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The CCSS for Mathematical Content Addressed in This Task

Represent and solve problems involving multiplication and division.

3.0A.1 Interpret products of whole numbers, e.g., interpret 5 x 7 as the total number of objects in 5
groups of 7 objects each. For example, describe a context in which a total number of objects
can be expressed as 5 x 7.

Understand properties of multiplication and the relationship between multiplication and

division.

3.0A.5  Apply properties of operations as strategies to multiply and divide. Examples: If 6 x 4 = 24 is
known, then 4 x 6 = 24 is also known. (Commutative property of multiplication.) 3 x 5 x 2
can be found by 3 x 5 =15, then 15 x 2 =30, or by 5 x 2 = 10, then 3 x 10 = 30.
(Associative property of multiplication.) Knowing that 8 x 5 = 40 and 8 x 2 = 16, one can find
8x7as8x(65+2)=(8x5)+(8x%x2) =40+ 16 = 56. (Distributive property.)

The CCSS for Mathematical Practice*

1. Make sense of problems and persevere in solving them.

4. Model with mathematics.

*Gray text indicates Mathematical Practices that are not addressed in this task.

Students’ responses to a mathematical task provide evidence of what they understand and are able to
do in relation to the standards and practices. Across tasks, this cumulative evidence shows students’
understanding and abilities within a domain. When students do not respond completely to all parts of a
task, they provide insufficient evidence of their mathematical understanding and abilities and therefore
do not fully demonstrate the expectations of the standards and practices aligned with that task.
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_ Task 4. Donuts Task

Explain how to use multiplication to determine either Tim's total number of donuts or
M_e_g_s_tg_t_g_l__m{_n‘t_b_er of qg'q_y_ts. Use wards and a drawing or multiplication egy,an_om‘
your explanation.
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b. Explain how you can use the information from part a to determine the other person’s total
number of donuts. .
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Total Content Points: 2 (3.0A.A.1,3.0A.B.S5)
Total Practice Points: 2 (MP1, MP4)

In Part A, the student’s drawing correctly shows 15 equal groups of 8 objects, indicating
an understanding of multiplication as representing the number of objects in x equal
groups (3.0A.A.1). The student also provides an accurate equation (15 x 8 = 120) for
Tim’s total number of donuts (MP4). In Part B, the student’s explanation of how to use
Tim’s total to determine Meg’s total number of donuts (“by adding 15 to Tim’s total of
donuts”) is sufficient (MP1). The student’s instruction to add one group of 15 indicates
some understanding of the distributive property of multiplication (3.0A.B.5).

Total Awarded Points: 4 out of 4
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Task 4. "_l').EOnu'ts Task

- T|m has 15 boxes of donuts He- has 8:'d"'i':‘;uts in- each box. ; | '7 '

" | Meg has 15 boxes of donuts. She has 9 donuts ineach box.

.

a. Explain how to use multiplication to determine either Tim's total number of donuts or
Meg's total number of donuts. Use words and a drawing or multlpllcatlon equatlon in
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Total Content Points: 2 (3.0A.A.1, 3.0A.B.5)
Total Practice Points: 2 (MP1, MP4)

In Part A, the student’s drawing correctly shows 9 rows of 15 objects each, indicating an
understanding of multiplication as representing the number of objects in x equal groups
(3.0A.A.1). The student provides an accurate equation (9 x 15 = 135) for Meg’s total
number of donuts (MP4). In Part B, the student explains how to use Meg’s total to
determine Tim’s total number of donuts (“subtract 15 from 135 and you’ll get 120)
(MP1). The student’s instruction to subtract one group of 15 indicates some
understanding of the distributive property of multiplication (3.0A.B.5).

Total Awarded Points: 4 out of 4
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b. Explain how you can use the information from part a to determine the other person’s total

number of donuts. -

P_
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Guide 3 Litho 386400
Total Content Points: 2 (3.0A.A.1, 3.0A.B.5)
Total Practice Points: 1 (MP1)

In Part A, the student’s drawing correctly shows 15 equal groups of 9 objects, indicating
an understanding of multiplication as representing the number of objects in x equal
groups (3.0A.A.1). However, the equation 15 x 9 = 153 is inaccurate (no credit

for MP4). In Part B, the student explains a method for using Meg’s total to determine
Tim’s total number of donuts (“’You subtract 15 [because] Tim had 8 per box not 9)
(MP1). The student’s explanation indicates an understanding of the distributive property
of multiplication by recognizing that the difference in the number of donuts in each box
means that the total number of donuts is going to differ by the total number of boxes
(3.0A.B.S).

Total Awarded Points: 3 out of 4
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Task 4. Donuts Task

a, Explain how to use multiplication to determine either Tim's total number of donuts or
Meg's total number of donuts. Use words and a drawing or multiplication equation in
your explanation.
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b.  Explain how you can use the information from part a to determine the other person’s total
number of donuts. '
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Total Content Points: 1 (3.0A.B.S5)
Total Practice Points: 2 (MP1, MP4)

In Part A, the student provides an accurate equation (15 x 8 = 120) (MP4). However, the
student neither provides a drawing of 15 equal groups of 8 or 9 objects nor correctly
labels the appropriate numbers as “boxes” and “donuts” in the equation 15 x 8 =120
(no credit for 3.0A.A.1). In Part B, the student explains how to use Tim’s total to
determine Meg’s total number of donuts (“You could add 1 more 15 to 15 x 8”) (MP1).
The student’s instruction to add one group of 15 indicates some understanding of the
distributive property of multiplication (3.0A.B.5).

Total Awarded Points: 3 out of 4
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 Task 4Donuts Task -
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b. Explam how you can use the mformatton from part ato determ[ne the other person 'S total
number of donuts.
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Total Content Points: 1 (3.0A.A.1)
Total Practice Points: 1 (MP4)

In Part A, the student indicates an understanding of a multiplication expression as
representing the number of objects in x equal groups by identifying 15 as the number of
boxes and 9 as the number of donuts in each, and then correctly determines Meg’s total
number of donuts as 135 (3.0A.A.1, MP4). In Part B, the student finds Tim’s total
number of donuts independently of Meg’s total, and therefore does not indicate how one
person’s total number of donuts can be used to determine the other person’s total

(no credit for MP1). Even if the answer found had been correct, no credit would be
awarded for MP1. The student does not apply the distributive property of multiplication
in the response (no credit for 3.0A.B.5).

Total Awarded Points: 2 out of 4
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b. Explain how you can use the information from part a to determine the other person’s total
number of donuts. : :
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Total Content Points: 1 (3.0A.A.1)
Total Practice Points: 1 (MP4)

In Part A, the student’s drawing correctly shows 15 equal groups of 9 objects to
determine Meg’s total number of donuts (3.0A.A.1, MP4). In Part B, the student’s
explanation (“You can do the same [steps] but [change] nine to 8”) specifically
references Meg’s donuts, but does not use Meg’s total to determine Tim’s total number of
donuts (no credit for MP1). Because the explanation suggests setting up a new
multiplication expression to find Tim’s total, the student has not applied the distributive
property of multiplication in the response (no credit for 3.0A.B.5).

Total Awarded Points: 2 out of 4
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Task 4. Donuts Task

a.

Explain how to use muiltiplication to determine either Tim's total number of donuts or
Meg's total number of donuts. Use words and a drawing or muitiplication equation in
your explanation.
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- b Explam how you can use the mformatlon from part a to determme the other person 's totat
; number of donuts: T
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Total Content Points: 1 (3.0A.A.1)
Total Practice Points: 1 (MP4)

In Part A, the student’s drawings correctly show 15 equal groups of 9 objects and

15 equal groups of 8 objects, indicating an understanding of a multiplication equation as
representing the number of objects in x equal groups (3.0A.A.1). The student provides
accurate equations (15 x 8 =120 and 15 x 9 = 135) for Tim’s and Meg’s total numbers of
donuts (MP4). In Part B, the student’s explanation (“they can both multiply 15 times 8
and 15 times 9”) does not indicate how one person’s total number of donuts can be used
to determine the other person’s total (no credit for MP1). The student does not apply the
distributive property of multiplication in the response (no credit for 3.0A.B.5).

Total Awarded Points: 2 out of 4
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Task 4. Donuts Task

T|m has 15 boxes of donuts I-Ie has 8 donuts in each box

Meg has 15 boxes of donuts She has 9 donuts i in each box

a. Explain how to use multiplication to determine either Tim’s total number of donuts or
Meg's total number of donuts. Use words and a drawing or multiplication equation in
your explanation.
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" b Expla[n how you can use ‘the mformatlon from part a to determlne the other person 's total
number of donuts. -
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Total Content Points: 1 (3.0A.A.1)
Total Practice Points: 0

In Part A, the student’s first drawing shows 8 equal groups of 15 objects and the second
drawing shows 15 equal groups of 9 objects, indicating an understanding of
multiplication as representing the number of objects in x equal groups (3.0A.A.1).
However, both equations (8 x 15=79 and 9 x 15 = 126) are inaccurate (no credit

for MP4). In Part B, the student’s explanation (“’You add it all up and count it”’) does not
indicate how one person’s total number of donuts can be used to determine the other
person’s total (no credit for MP1). The student does not apply the distributive property of
multiplication in the response (no credit for 3.0A.B.5).

Total Awarded Points: 1 out of 4
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“Task 4. Donuts Task-

Meg s total number of ddnuts"' Use words and a drawmg or mthphcation equation in
. your exp[anatlon '
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b. Explain how you can use the information from part a to determine_fhe other person’s total
.+ number of donuts.
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Total Content Points: 0
Total Practice Points: 1 (MP4)

In Part A, the student provides a correct equation (15 % 8 = 120) for Tim’s total number
of donuts, and in Part B provides a correct equation (15 x 9 = 135) for Meg’s total
number of donuts (MP4). However, the student does not label the appropriate numbers as
“boxes” or “donuts” in either equation (no credit for 3.0A.A.1). In Part B, the student
determines Meg’s total number of donuts independently of Tim’s total, and therefore
does not indicate how one person’s total number of donuts can be used to determine the
other person’s total (no credit for MP1). The student does not apply the distributive
property of multiplication in the response (no credit for 3.0A.B.5).

Total Awarded Points: 1 out of 4
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Task 4. Donuts Task -
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Tim}héé 15 boxes of donuts He has 8 domts'in each box i

‘Meg hés 15 boxes of donuts She has 9donuts in each box -

a. Explain how to use multiplication to determine either Tim's total number of donuts or
Meg's total number of donuts. Use words and a drawing or multiplication equation in
your explanation.
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_ b Explaln how you can use the mformatlon from part a to determlne the other person 'S tota! .
number of donuts. - L , o
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Total Content Points: 0
Total Practice Points: 1 (MP4)

In Part A, 15 X 9 and the correct product (135) represent an accurate equation for Meg’s
total number of donuts (MP4). However, the student does not label the appropriate
numbers as “boxes” and “donuts,” thereby not providing evidence of an understanding of
multiplication as 15 equal groups of 9 objects (no credit for 3.0A.A.1). In Part B, the
student’s explanation (“count up’’) does not indicate how one person’s total number of
donuts can be used to determine the other person’s total (no credit for MP1). The student
does not apply the distributive property of multiplication in the response (no credit

for 3.0A.B.5).

Total Awarded Points: 1 out of 4
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i b. Expléin how you can use the information from part a to determine the other person’s total

number of donufs.
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Total Content Points: 0
Total Practice Points: 0

In Part A, the student’s drawing does not show 15 equal groups of 8 or 9 objects, thereby
not showing an understanding of multiplication within the context of this task (no credit
for 3.0A.A.1). The equation 8 x 9 = 72 does not accurately determine the total number of
donuts for Tim or Meg (no credit for MP4). In Part B, the student does not indicate how
one person’s total number of donuts can be used to determine the other person’s total

(no credit for MP1). The student does not apply the distributive property of multiplication
in the response (no credit for 3.0A.B.5).

Total Awarded Points: 0 out of 4
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b. Explain how you can use the information from part a to determlne the other person s total
number of donuts
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Total Content Points: 0
Total Practice Points: 0

In Part A, the student’s drawing does not show 15 equal groups of 8 or 9 objects, thereby
not indicating an understanding of multiplication as representing the number of objects in
x equal groups (no credit for 3.0A.A.1). The student does not provide an adequate model
of the situation (no credit for MP4). The student’s explanation (“Meg has 1 more donut
[than] Tim”) is inaccurate and does not make sense of the problem (no credit for MP1).
In Part B, the student does not apply the distributive property of multiplication (no credit
for 3.0A.B.5).

Total Awarded Points: 0 out of 4
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